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UNIT ~1

2. (a) Explain the construction & working of solar cell.
Find its open circuit voltage, short circuit current
& fill factor. . 10

(b) Describe the construction and process of
generation of photocurrent in microchannels. 6

3. Explain the construction and working of :

(a) Photomultiplier tubes 8
(b) Avalanche photodiode. 8
UNIT -~ 1i

4. (a) An AM transmitter has antenna current of 2 A
with modulation index of 60 percent. What will be
the total antenna current if one more identical
antenna is connected in parallel with the previous
one, keeping the transmitter output same ? Will it
affect modulation index ? 8

(b) Describe pulse width modulation and pulse code
modulation. 8

5. (a) Describe balanced modulator. Explain how the
circuit produces side bands without carriers ? 10

(b) Explain product detector and illustrate its circuit
diagram. 6

(2)
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amplifier and explain why CMRR — o for

symmetrical circuit with Re — . 1

105, Vi=—1 V, R; = 125 kQ and R, = 25 k. ulug

find V at amplifier input :

R,

L

7. (@) OP-AMP having infinite input resistance, 7er |
output resistance and a voltage gain A,. For the

given circuit, find the gain with feedback (Ay) :
R R

(3) P.T.O.




